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Ulesanne 1
Téaida tabel.
. , (cosx)’: —sinx
¢c'=0 (ex) ~ o
x'=1 ' '
a*) =a*lna t =
( ) (tan ) cos? x
1) 1 (Inx) =1
x) "% X (cotx)’=— L
sin? x
F'(x)= f'(u)-g'(x), kus
! 1 ] 1
= | = u=giXx
W) =2 (og, x)= —L (x
(x“)': n-x"* (sinx) = cosx
Ulesanne 2

Leia funktsiooni tuletis.
a) f(x)=1++/x
1

1
f'ix)=0+ — =—"+
W=0+ =0k
1-x3
b) y=

c)

y=62x
y'=(2x)"eX=2e2
d) y=3*+Inx
y' =3" In3+l
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1—sin?x  cosZx
y= q = 2=]

cos2x cos2x
y'=0
f)

x5
y:

1—x

CoSxM(1=x) = (=Dx®  Sx*—5x7+x%  Sxt—dxd  x*(5-4x)
- (1-x)2 (1-02  (1-x)% (l1-x)?2
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f’(x): [(\/;—1)2] -x—z(X—Z\/;+1).x’ i (1—\/1;)X—(x_2\/;+1),1
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h)

y=(x2-1)4

y' =4(x2-1)3. 2x=8x(x2-1) 3
i)

y=2sinx

y'=2- 2sinx- cosx =2sin2x



